INSTALLATION GUIDE

4-POST Open Frame Rack Assembly Instruction

2

5

Packaging List

1. Vertical rail - 4pcs

2. Horizontal beam - 4pcs

3. Plinth - 2pcs

4. 2" heavy-duty castor (2 pcs with brake) - 4pcs
5. Top connection part - 2pcs

In support of our policy of continuous product improvement we reserve the right to change materials and specifications without notice. Drawings, where used,
are not to scale. All dimensions are in millimetres and sizes given are approximate. Where possible, technical MSDS data sheets are made available on the
website. All products should be installed and used in accordance with manufacturer’s instructions provided. Warning: products may be the subject of registered
designs and patents. Refer to website for terms and conditions on warranty.

National Sales T: 1800 769 370 E: sales@legendpower.com.qu W: legendpower.com.au LEGEND

POWER SYSTEMS




INSTALLATION GUIDE

Dimensions

<
<

v

o

0 O
‘ y

D

=

<

v

:
[om BN o T o

=)

i
<

D

=

<

o

<

[0 P i P P |

—
0
e

<
<

.
o

Front View Side View

o |l
H 4| ¢
: I
o |B |
600

Top View

In support of our policy of continuous product improvement we reserve the right to change materials and specifications without notice. Drawings, where used,
are not to scale. All dimensions are in millimetres and sizes given are approximate. Where possible, technical MSDS data sheets are made available on the
website. All products should be installed and used in accordance with manufacturer’s instructions provided. Warning: products may be the subject of registered
designs and patents. Refer to website for terms and conditions on warranty.

National Sales T: 1800 769 370 E: sqles@legendpower.com.qu W: legendpower.com.au LEGEND

POWER SYSTEMS




INSTALLATION GUIDE

Item List of Accessaries Packaging
Assembly Hardwares Kits:
M6*12 screw - 72pcs
M6 Flange nut - 72pcs

2" heavy-duty castor -2pcs
2" heavy-duty castor with brake -2pcs

End User Hardwares Kits:

U Capacity <27U, 20 sets cagenuts ; 27U<U Capacity <37U,
30sets cagenuts ; U Capacity >37U, 40 sets cagenuts.
(cagenut : M6*12 screw & M6 cage nut)

Tips: Check the quantities of the items before assembly

Diagram of accessories

NO. DESCRIPTION

1 M6 flange nut

2 M6*12 Screw

3 2" heavy-duty castor

4 2" heavy-duty castor with brake
5 M6 cage nut

In support of our policy of continuous product improvement we reserve the right to change materials and specifications without notice. Drawings, where used,
are not to scale. All dimensions are in millimetres and sizes given are approximate. Where possible, technical MSDS data sheets are made available on the
website. All products should be installed and used in accordance with manufacturer’s instructions provided. Warning: products may be the subject of registered
designs and patents. Refer to website for terms and conditions on warranty.

National Sales T: 1800 769 370 E: sales@legendpower.com.qu W: legendpower.com.au LEGEND

POWER SYSTEMS




INSTALLATION GUIDE

Installation

Step 1: Assembly vertical rails and horizontal beams to form the frame
with 32 sets M6*12 screws and M6 flange nuts.

with brake

Step 2: Assembly the castors on the Plinths by 16 sets M6*12 screws
and M6 flange nuts.

In support of our policy of continuous product improvement we reserve the right to change materials and specifications without notice. Drawings, where used,
are not to scale. All dimensions are in millimetres and sizes given are approximate. Where possible, technical MSDS data sheets are made available on the
website. All products should be installed and used in accordance with manufacturer’s instructions provided. Warning: products may be the subject of registered

designs and patents. Refer to website for terms and conditions on warranty.

National Sales T: 1800 769 370 E: sqles@legendpower.com.qu W: legendpower.com.au LEGEND

POWER SYSTEMS




INSTALLATION GUIDE

Step 3:Assembly the frame and plinth by 16 sets M6*12 screws
and M6 flange nuts.

>
Step 4:Assembly the top connection part on the frames by 8
sets M6*12 screws and M6 flange nuts.

Note:After assembly,please adjust the diagonal size of the
cabinet to ensure homogeneous space for all doors and all
doors work well.

In support of our policy of continuous product improvement we reserve the right to change materials and specifications without notice. Drawings, where used,
are not to scale. All dimensions are in millimetres and sizes given are approximate. Where possible, technical MSDS data sheets are made available on the
website. All products should be installed and used in accordance with manufacturer’s instructions provided. Warning: products may be the subject of registered

designs and patents. Refer to website for terms and conditions on warranty.

National Sales T: 1800 769 370 E: sqles@legendpower.com.qu W: legendpower.com.au LEGEND

POWER SYSTEMS




